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Time: 50 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

4. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

5. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 55+66=" [1%]
2) 345+599="? [1%]
3) 131-59=2? [1%]
4) 821-532=7 [1%]
5) 34x8=7? [1%]
6) 987+3=7 [1%]
7)  25+8x15=7 [1%]
8) T75+17+17+17+17+17=2? [1%]
9)  745-953+500="? [1%]
10) 49x(5+7)=2 [1%]
11) (34 +5) x (66 —46) =? [1%]
12) 24+6x6+22-2x2="7 [1%]
13) 2023 -1788 + 177 +1988 =7 [1%]
14) 6x31-53x3+8x61=" [1%]
15) 1+11+2+12+3+13+---+10+20="7 [1%]
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16) A stationery store has 322 coloured pencils, half of them arered. A~ [2%]
staff packs the other half of the coloured pencils into boxes of 7. At
most how many boxes of coloured pencils are there?

SCEJER 322 Bt s > Hp—424L 0 - JE RS —HYEd
R TREER & - kIR OES D ?

17)  Form the largest 5-digit even number using the number cards [2.1%]
below.

EEIVRINENL Y et l T AN IR aRA 2 Y

1/(5/ 19 18] 5 4
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18) A pair of jeans costs $227. On Saturdays, you can buy 4 pairs of [2.2%]
jeans for a discounted price of $887.
In other words, $ ? can be saved if one buys 4 pairs of
jeans on Saturday.

A ERHRIRE 227 JT - AR /S A] DUE (R 887 JTiEH 4
{4 -
s EREMNE 4R RS 2 T

[2.3%]

I

D
3
3

19) 17m+560cm+ 1 mm

17 >k + 560 E-K + 1 22K = ? =
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20)  Alex is 153 cm tall, Bill is 110 mm taller than Charles, and Charles  [2.4%]
IS 340 mm shorter than Alex.

The sum of Alex’s and Bill’s heights is ? cm.
/NEHE S 153 cm » /NEEE/ A S 110 mm o /NAZ Y EE/NBHER
340 mm -

NHF NSRS & ZHUE ? cm <

21) Itis now at night, the clock below shows the current time. After [2.5%]
how many seconds will the next day begin?

SRR B NERR AR TIRAERRE - BEEE N —RAYGE
GEAZ/ VT ?
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22)  Form the 5-digit number that is closest to 40000 using the number  [2.6%]
cards below.

FA B BB 4H i {1 S 44T 40000 AY FLAXEK -

019 6] 3|4

23)  There is a quadrilateral with a pair of opposite sides that are [2.7%]
different in length. If one draws a straight line connecting these two
sides, and the line makes a right angle with one of the sides, then
the line would also make a right angle on the other end. The other
two sides of this quadrilateral are also different in length. What type
of quadrilateral is it?

A—EUER - EA—HREA—HEE - EEXEEII—R
BT HOEVH T IO E A - REV S Intl & AE
A - BIUEPHI S NRRENRETA — - TEWEEA R
B 7
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24)  There are 278 students waiting for maps. They are separated in [2.8%]
groups of 23. However, the first group is combined with the group
that has fewer than 23 students.
There are ? _groups of 23 students.

278 ZEBAEATE FIREMR - SRS 23 A4 -
LRI 238 A LA A -
S 23 AUINEE 2 [ -

25)  Sherry has 45 fewer coloured pencils than Lily. Lily has 6 times as ~ [2.9%]
many coloured pencils as Sherry. How many coloured pencils does
Lily have?

BEARBHESELLAF] ) 451 > FATHHIBHESEER TR 6

&% o FFHBHOFEZ/DE 7
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26) My sister is 20 years old, my brother is 10 years younger than her. [3%]
10 years ago, my father’s age was 3 more than 4 times my sister’s
age. How old is my father now?
HHAHSAE 20 5% 0 sReBERAHAE )N 10 5% - 10 4ERT > SEMEETE
HHAAREY 4 5% 3 - BEBAEZ /DR ?

27)  Alan took a 3-hour and 48-minute flight to Japan from Hong Kong.  [3.1%]

His arrival time is 12:21 a.m. in Japan. Japan is one hour ahead of
Hong Kong. What time was it in Hong Kong when Alan’s flight
took off? (Answer in 24-hour time.)

ANBHEFR AN 1 3 /NEF 48 S SRS HAS - i 272 H AR
HARRFRIF £ 12:21 o HAKREIEEFR AR RITR—/NRF = 2KNH

TRASFEETRAFA R AR » (DL 24 /NRFHFHIES - )
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28) A 60-minute exam has three parts. Peter spent one-third of the time  [3.2%)]
to finish the first part, he then spent half of the exam time to finish
the second part, and then spent 5 minutes to complete the last part.
How many minutes did Peter use to complete the whole exam?

—{|& 60 %ﬁiﬁﬁ%iﬁﬁ 3MEHER > - BIEH T =0 2 —iy=5alliF
MSERGE—Eh 7 B T BRI EIIY—F5EEEE 8 - Z1&
T 5% %ﬁ%)ﬂz R HIE ST o B1E e B E= S A T %/ 05
5 0

29)  Observe the figure below, how many grams does one $3 weigh? [3.3%]

BIZTE - —(E S EHDW?

50g
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30) The figure below shows a rectangular park. Parman is 10 m away  [3.4%]
from Alvin. Charles is 8 m away from Miles. The positions of
Parman, the bin and Miles make an isosceles right-angled triangle.
Parman runs along the 4 sides of the park once, how many meters
does Parman run?

TEREER AP AE - AR 10 0K - BsRiEE R
58 80K o AL ~ Hikdm M ERHI L B 7 — S E A =
o o SO nE A EVIER 7 —E > G 20K 7

IED'S
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The figure on the right is formed by combining 7 of the same [4%]
equilateral triangles on the left. Triangle A and triangle B are the

same in shape and size. Express the shaded part as a fraction of the

whole figure on the right.

AlElE 7 (EEE A R R =AY - =AF ARNI=
AP B BIIAIRRIR/ NG AHIE] © Pl o b R (e By 2% oy 2

=Y

32)

4 oranges and 4 apples cost a total of $84. [4.1%]
3 oranges and 2 apples cost $48.
3 oranges cost $ 7.

4 {BFEA 4 {EFaR
3 (BRI 2 {E AR
?

3 (A ILE

S8 84 7T -
S8 48 7
5 -
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33)  There are 4 different spices. A chef might use them in combinations [4.2%]
of 2, 3 or all 4 of them in cooking. How many possible
combinations are there in total?

A ATERUOR - BIRIE S AR S A 278 3Tl 4 1
AR o HAFHE S/ 7

34) 5 students are playing a party game where they role-play as honest  [4.3%]
civilians and demons who always lie. Who is (are) role-playing as
civilian(s)?

5 (B A=A DT —(EDR BT Y - Ay ek B A BRI SR E e
YRR - SEEE PR 7

Student A said ‘B is not a civilian.’
Student B said “E is not a civilian.’
Student C said ‘A is not a demon.’
Student D said ‘A and C are not the same.’
Student E said ‘D is a demon.’

g A TBRETR -

s B3 TERRTR -

sk CaR: TAT R -

1t D3 TAR C R - |
S Ex D RER -
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35)  Peter takes a taxi from his house to the factory. He needs to stop by  [4.4%]
the fast-food shop to get breakfast. Assuming that the taxi takes the
shortest routes, find the number of possible routes the taxi can take.

BETRAT LR EI TG - kb DVERS S ELTE - R
AR TR (T - SIE % VR FIRBS 48 2

N 4 Peter’s house
B
-, Fast-food shop
& g

Factory
T

e

36) A mask making factory received an order. 3 identical machines [4.5%]
completed one-third of the order in 14 minutes. However, one of
the machines stops working. How many more minutes will the
factory need to complete the whole order?

B T — RS T ERVETE - 3E S 2 MHRER B T
14 73§85k TET AV =002 — » BAEH 1 —Af LB T -
BRI RESC IR EE(EET B 7
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A 30-piece jigsaw puzzle has 5 columns and 6 rows. One of the [4.6%]

pieces is missing. Below are the remaining 29 pieces. Which is the
missing piece?

— {3 30 BRAYHFES 6 17 > F17H 5 BE - IRAEFFEIAVHE T —
BART - DUNER TEY 29 88 - BE—BEA A T HHHE ?
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38)  There are 97 red pens, 71 blue pens, 61 green pens and 83 yellow  [4.7%]
pens in a cardboard box. If one draws pens from the box without
looking, find the least number of pens needed to be drawn so that
one can always get at least 7 pairs of same-coloured pens.
(The pens in a pair must be of the same colour but the colour does
not have to be the same across pairs. Each pair is considered
separately, a pen cannot be shared across pairs.)

WA 97 RIS ~ THAE (O - 61 *ﬁﬁ?é%%ﬂ 83 i tE
F—EAEE - HAESAELCE IS - FEIUT &RV
%/ VIR REbREE 2/ A T I EIBH AR ?

(B TSROk - BENEZHBEEAT 1%
—HEVE R > B REES T o)

39) Define ‘¢’ [4.8%]
ERm A

(@) a<b,a# b=3b-2a
(b) a>b,a# b=3a+4b

Giventhat 8 # p=p # 8 and p is a positive whole number. Find
the value of p.

CHI8#p=p# 8 K prefEE®8 - KpHIH -
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40)  How many rectangles are there in the figure that do not contain )2 [4.9%]

B rEe O BRITEAEZME?

End of paper
Egewn




REG NO 1
MAaY MATH g=-; NAME
WIE CONCERTITION | omot P3
ANSWER SHEET =
— mm O IDCHECK mm O ABSENT —
S 2
8 1121 N 780 o2 2089 o |25 h
0|
O
82 944 o 12 /8 5 22 39640 o 1% 18 o
g Trapeziu_m
53 12 e 2400 o 23;%%2920"1 o |3 11 o
@)
O
8 2 289 5 14515 r 2211 5 A C,E 5
@)
O
85 2172 o 210 s 25 H4 o 35 60 o
O
O
86329 o 16 23 o 26 53 5 36 42 o
O
@) .
87 145 g 17 98554 o7 19:33 o 37C 5
O
@)
88 160 o 1827 o 28 55 o 3817 o
@)
O
89 292 o | 22601 5 293275 5 39 8 5
O
O
810 588 o | 283 5 30 36 5 a0 42 5
=5 — — — —
R ‘




